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Multiplication Property
1)Ifa<band c is positive, then ac < be
2) Ifa <b and ¢ is negative then ac > bc

Division Property
1) Ifa<band ¢ is positive, then a/c < b/c
2) Ifa<band c is negative then a/c > b/c

Ex 1) Solve the inequality 7x +23 <2
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Ex 3) Solve the inequality 8x > 4(1 + 2x)

x> q(l+ax)
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False statement: No Solution, {}, O




[image: image3.png]Ex 4) Solve the inequality 6x <2(5 + 3x)

Gx < 16 + Gx
=% —CA

o< 1o
True Statement: All Real Numbers (R





� EMBED Photoshop.Image.6 \s ���





� EMBED Photoshop.Image.6 \s ���





� EMBED Photoshop.Image.6 \s ���








[image: image4.png]2-1 Solving Inequalities in One Variable =~ Page 59

Multiplication Property
1)Ifa<band c is positive, then ac < be
2) Ifa <b and ¢ is negative then ac > bc

Division Property
1) Ifa<band ¢ is positive, then a/c < b/c
2) Ifa<band c is negative then a/c > b/c

Ex 1) Solve the inequality 7x +23 <2

23< A
7% r_233 s

7xe~2l
=

X_L‘3




[image: image5.png]Ex 2) Solve the inequality 4(2 - x) <6 - x
4@ -1) 4 b -y
R VIR
A

<_r<‘—’>x‘_(°<€
~Zr 2

Ex 3) Solve the inequality 8x > 4(1 + 2x)

x> q(l+ax)

Fx 2 449X
-~ —BA

o>4

False statement: No Solution, {}, O



[image: image6.png]Ex 4) Solve the inequality 6x <2(5 + 3x)

Gx < 16 + Gx
=% —CA

o< 1o
True Statement: All Real Numbers (R




_1078559247.psd

_1078559258.psd

_1078559194.psd

